a7

0T

eep

50

40

30

20

10

times



Observed

Random

Fit/Forecast

15

10

-6e-13 0e+00 4e-13-2 -1

15

10

Lambdas = (1,0,0) (10,0,0)

STR decomposition

10

20
Time

30

40

50




data

15

10

10

20

times

30

40

50



Observed

Random

Fit/Forecast

15

10

-le-12 0Oe+00 -2

15

10

Lambdas = (1,0,0) (10,0,0)

STR decomposition

10

20
Time

30

40

50




data

15

10

10

20

times

30

40

50



Observed

Random

Fit/Forecast

15

10

-1

-0.2 00 01 02 -2

15

10

Lambdas = (1,0,0) (10,0,0)

STR decomposition

10

20
Time

30

40

50




Observed

Random

Fit/Forecast

15

10

-1

-0.2 00 01 02 -2

15

10

STR decomposition
LOO MSE = 0.1264, Lambdas = (1,0,0) (10,0,0)

10 20
Time

30

40

50




